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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 



 [ 2 ] BASO–302/SO-04 

B-35 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is meant by Social Problem ? What are the 

various approaches of studying Social Problems ? 

lkekftd leL;k dk D;k vFkZ gS \ lkekftd leL;kvksa ds 

v/;;u ds fofHkUu mikxe D;k gaS \ 

2. Define Crime. Distinguish between crime and juvenile 

delinquency. 

vijk/k dks ifjHkkf”kr dhft,A vijk/k rFkk cky vijk/k esa 

vUrj Li”V dhft,A 

3. What do you understand by Alcoholism ? How can it 

be abolished from Indian society ? 

e|iku ls vki D;k le>rs gSa \ Hkkjrh; lekt ls bldk 

mUewyu dSls fd;k tk ldrk gS \ 

4. What do you understand by Communalism ? How does 

it pose a threat to national unity ? 

lkEiznkf;drk ls vki D;k le>rs gSa \ ;g fdl izdkj 

jk”Vªh; ,drk ds fy, ?kkrd gS \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss the following : 

fuEufyf[kr dh laf{kIr esa ppkZ dhft, % 

1. Causes of crime. 

vijk/k ds dkj.kA 

2. Problems of white collar crime. 

‘osr olu vijk/k dh leL;k,¡A 

3. Causes of prostitution. 

os’;kòfŸk ds dkj.kA 

4. Causes of poverty in India. 

Hkkjr esa fu/kZurk ds dkj.kA 

5. Types of pollution. 

iznw”k.k ds izdkjA 

6. Evil effects of regionalism. 

{ks=okn ds nq”ifj.kkeA 

7. Theories of suicide. 

vkRegR;k ds fl)kUrA 

8. Juvenile Court. 

cky U;k;ky;A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Juvenile delinquents are kept in Juvenile Jail.  

     (True/False) 

cky vijk/kh fd’kksj cUnhx`g esa j[ks tkrs gSaA ¼lR;@vlR;½ 

2. In India, minimum age of marriage for girls is 21 

years.    (True/False) 

Hkkjr esa yM+fd;ksa ds fy, fookg dh U;wure vk;q 21 o”kZ gSA 

    ¼lR;@vlR;½ 

3. Unemployment may be defined as the idleness of 

persons, who are able and willing to work. (True/False) 

csjkstxkjh mu O;fDr;ksa dh fuf”Ø;rk ds :i esa ifjHkkf”kr 

dh tk ldrh gS] tks dk;Z djus ds ;ksX; ,oa bPNqd gSaA  

    ¼lR;@vlR;½ 
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4. Overpopulation is one of the main cause of poverty in 

India.    (True/False) 

Hkkjr dh c<+rh gqbZ tula[;k fu/kZurk dk ,d izeq[k dkj.k 

gSA    ¼lR;@vlR;½ 

5. The literacy rate of male and female is equal in India.  

     (True/False) 

Hkkjr esa iq#”kksa o efgykvksa esa lk{kjrk nj leku gSA  

    ¼lR;@vlR;½ 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Which among the following is not a carrier of HIV ? 

(a) Saliva 

(b) Blood 

(c) Sperms 

(d) Milk of infected mother 

fuEufyf[kr esa ls dkSu ,p- vkbZ- oh- fo”kk.kq dk ek/;e ugha  

gS \ 

¼v½ ykj 

¼c½ jDr 

¼l½ ‘kqØk.kq 

¼n½ laØfer ek¡ dk nw/k 

7. Who said that ―Criminals are borm‖ ? 

(a) Merton 

(b) Lombroso 

(c) Johnson 

(d) Cohen 
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ßvijk/kh tUetkr gksrs gSaAÞ ;g dFku fdldk gS \ 

¼v½ eVZu 

¼c½ yksEczkslks 

¼l½ tkWulu 

¼n½ dksgsu 

8. Anti Dowry Act was passed in the year : 

(a) 1935 

(b) 1961 

(c) 1955 

(d) 1971 

^ngst fujks/kd vf/kfu;e* ikfjr fd;k x;k % 

¼v½ 1935 esa 

¼c½ 1961 esa 

¼l½ 1955 esa  

¼n½ 1971 esa 

9. When did National Rural Employment Programme 

(NREP) start ? 

(a) August, 1980 

(b) October, 1980 

(c) September, 1980 

(d) January, 1980 

jk”Vªh; xzkeh.k jkstxkj ;kstuk (NREP) dc izkjEHk gqbZ \ 

¼v½ vxLr] 1980 

¼c½ vDVwcj] 1980 

¼l½ flrEcj] 1980 

¼n½ tuojh] 1980 
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10. Which among the following is a reformative measure 

for criminals ? 

(a) Probation 

(b) Parole 

(c) Reformatories 

(d) All of the above 

fuEufyf[kr esa ls dkSu&lk vijkf/k;ksa ds lq/kkj gsrq ,d 

lk/kd gS \ 

¼v½ izkscs’ku 

¼c½ iSjksy 

¼l½ lq/kkjx`g 

¼n½ mi;qZDr lHkh 
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